ATH 1 7 Series 12#F3R %0 Ball Screw Drive

Il)&
‘:|

LERH#EE, HEMRELRTER,

i) rsonn | (SR 2o (Rl coov | (R HLAY
Maximum Stroke Maximum Speed Motor Output Ball Screw Linear Guide

WSRFHR

ATH17-L 5-100-M-M40B-C 4-0001

$5ENRE
Moder HEHT S 752

Special Order No

Ball Screw Brand Stroke
" WBAH | 100-1050mm
501E f& 50mmPitch
‘ﬂ%ﬁ%fi i OisfE W DA, R Rk R 2% i e AR PR R R 2%
Ball SVrew Lead Motor Position Motor Brand Home Sensor Limit Sensor
02 |2mm M DixES S i R SMEZ Out Side ShER Out Side
05 | 5mm N = P ﬁl}T P.anas.om.c 10 C| Dk Motor Side 3 18 1Pc
16 | 16mm _BC| SixsE M| =2 Mitsubishi 20| - D| R D% Opposite Motor Side 4] omopc
20 | 20mm BM DA TH Y| ®Jil Yaskawa |40|400W| B % SENSOR No Sensor J SENSOR No Sensor
N E| 7 SENSOR No Sensor
BL | Bz T| s Telata |75 - E[ ZSENSORNoSonsor 5] % SENSOR No Sensor _
BR sk




ATH17 series
BRI EHELE < RA R >

(I BEE S E Repeatability(mm) +0.01
124 542 Belt Lead(mm) 5 10 20 40 e g
= i T 5-24v 2
ll‘i RS i#E Maximum Speed(mm/s) 250 | 500 | 1000 | 2000 - (et ) :
IE\E BATHESE 7k 4 FHorizontal(kg) 110 90 75 35 3
Maximum Payload 7 1§ i Vertical(kg) 40 30 14 7
=& Rated Thrusr(N) 1388 | 694 | 347 174
FR/#E1THZ Stroke Pitch(mm) 100-1250/50 [E]F@
AC{EBRG %5 & & AC Servo Motor Outout (W) 400
E"ZB PRERIZFFSMZ Ball Screw @ (mm) C7@20
o [BRIEEZLEH  High Rigidity Linear Guide(mm) W20xH15
AR
L4428 Couping (mm) 14x12 .
A EE-SX672(NPN) g 5
B A B 2% Home Sensor ‘9M§ Outside EE_SX674(NPN) %?é
N, g
TR 8500, &7 A AT RIE I EHE B R E AR, *DikInEEIZE0.2F) 35
&
B
e5
L
]
e
| c 2711_:‘(
B
2k
£
(B HT:mm) (BAfL:mm) (BA{I:mm) KEERE  (BA:mm) ‘g
kERE| A | B | C WEZSE| A | B | C FEHZHE| A | C _1032(N) | >_
5| 60kg | 2980 435 | 577 £ | 60kg | 530 | 350 | 2438 &| 20kg |3030|3030 % 2
#2 | 100kg |2000 | 247 | 331 2 | 100kg | 277 | 165 | 1995 2| 30kg | 1792|1792 N e
5 [ 110kg | 1846 202 | 269 S | 110kg | 215 | 118 | 1836 5| 40kg |1262]1262 in
£ | 60kg |2440| 428 | 570 5| 60kg | 533 | 353 | 2441 5| 15kg | 1778|1778 £d
#2| 75kg |2010| 253 | 336 #2| 75kg | 293 | 179 | 2010 #2| 25kg | 1050|1050
10[ gokg | 1851 207 | 274 10| gokg | 230 | 133 | 1851 10 30kg | 750 | 750 >—
| 30kg |2652| 899 | 994 | 30kg | 982 | 815 |2573 5| 5kg | 1700|1700
72| 50kg [1775| 526 | 593 2| 50kg | 569 | 442 | 1680 72| 10kg |2202]2202 2@
20| 75kg |1396| 317 | 267 20| 75kg | 337 | 232 |1258 20| 14kg | 1485|1485 %’
23
5| 10kg |3545|2738|2003 5| 10kg |2020 26713500 5| 7kg | 650 | 650 c&
72| 20kg |2545(1360|1185 #2| 20kg | 120012812480 2 - - -
40| 35kg [2640| 664 | 739 40| 35kg | 755 | 591 |2518 40 . - - >—
A+ = s 5 . mt
EELRIAR DiA—Y%a R Suitable Motor Brand 3
g H
=k
kg Sixigs NEFEL DixAE BIREE FARDIXES RE/E S ?g
Brand Mark Brake Wit AAGeMge Motor Model Driver Model
=% THE (KFERE) 400 220 HF-KP43 MR-J3-40A >’
mitsubishil M e (maate) 400 220 HF-KP43B MR—J3—40A Al
R TR (AFERHE) 400 220 MHMDO042P1S MADDT2210 £ jﬂé
. P - g I
Panasonic BHE (EERHE) 400 220 MHMDO42P1T MADDT2210 EB
ki
aik T TRFE (KFREE) 400 220 ECMA-C20604ES ASD-B20421-B -
Delta BHE (EHRHE) 400 220 ECMA-C20604FS ASD-B20421-B

067




068

@

ATH17 series

124FIR 3h Ball Screw Drive

L
MERA 1343 Bl 1325
152
136 BAVHER
REHHRER 495+ 1 0 ‘ 46521
A5:1) [ | ‘
35 . : S
s ‘ : )
-
g e=| elsl s ;
=8 | !
NI i ; y
_ 5.5 — o i Il
: ‘ )
I T £y T =
MORON(114.5) 8-M8x20
2-26x15 H7
%430 4-M5x10
28 50 MEEMEFEAL
] _
1 | [ ]
5 [ Y:U.—¢ | / [
> i = o
L =
9 I
‘ #I%430
140
23. *
170 M*200 A 93.5
Ead X3 xS FYS IR
o — 2| e
b Rl i & W)
N-M8x12 N-29
38.5 200 A 785

1150
L 367 417 467 517 567 617 667 "7 767 817 867 917 967 1017 | 1067 | 1117 | 1167 | 1217 | 1267 | 1317 | 1367 | 1417 | 1467 | 1517
A 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
KG 1.8 126 134 14.2 14.9 15.7 16.5 17.3 18 18.8 19.6 204 211 219 227 235 242 25 258 266 274 282 29 298
L
s -
DA B
AR
M‘ T AG-SF'_,
I | £3 ; =
A(5:1) ! i ! i
35 ° © i ] ol
st ] 2|8 e ‘ ; ]
0 iizal t
[ == T ! ! i
i o i ! e
L 1.8 | : : L
_| 55 \ g I T ; F
i T
S0 2-06x5HT 0 8-M8x20
169 4-M5x10
50 HERLEA
r=
156 T ] [ T
I | l IR T —
: i | a t o
5 |5 ( 3 I ﬂ: 3
~—t A —
© T T
e Tof FI%197.5 N-29 N-M8x12
‘ 140 ‘ 167.5 M*200 A 93.5
170 ‘ \4\
5 = & % )
Rl € .
= =
il
L & o4 oo ()
182.5 M*200 A ‘ 78.5

100 0 950 1000 1050 1100
L 511 561 611 661 " 761 811 | 861 911 961 | 1011 | 1061 | 1111 | 1161 | 1211 | 1261 | 1311 | 1361 | 1411 | 1461 | 1511 | 1561 | 1611 | 1661
A 50 100 | 150 | 200 50 100 150 | 200 50 100 150 | 200 50 100 | 150 | 200 50 100 150 | 200 50 100 | 150 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
KG 11.8 | 126 | 134 | 142 | 149 | 157 | 165 | 17.3 18 18.8 | 196 | 204 | 21.1 | 21.9 | 227 | 235 | 242 25 258 | 266 | 274 | 28.2 29 298




ATH17 series

7€ @ DA

B
©

AHITE 100

152
AR 136
661 100
© . i W
RIFI [ | e
@ ! A(5:1)
& 35
& o e
e
= [ l1s
8-M8x20 ]
2-26x15 H7 ———
BRITE
L 169
4-M5x10
@ XTELERHTL 156
L
i i I [
° °
=] >
°
! | S—
105 150 M200 A 140 ‘
‘ 170
N-M8x12 N-29
=y Y3 =3 2*\ Y
g R
44 $e [2 e —
== T
90 150 M*200 A 93

1000 1050 1100 1150 1200 1250

L 383.5 |433.5 | 483.5 | 533.5 (583.5 | 633.5 | 683.5 | 733.5 | 783.5 | 833.5 | 883.5 | 933.5 |983.5 [1033.5(1083.5(1133.5(1183.5[1233.5/1283.5(1333.5(1383.5(1433.5(1483.5[1533.5
A 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
KG 11.8 | 126 | 1834 | 142 | 149 | 157 | 165 | 17.3 18 188 | 19.6 | 204 | 211 | 21.9 | 22.7 | 235 | 24.2 25 258 | 266 | 274 | 28.2 29 29.8
A
AR .
AARA 151 AHITE 1325
2-26x15 H7 AT
L
8-M8x20 4651
2 [y
= : : ;
5
& i ! i A(511)
8 of } T e 35
~
8 i ! I [ ml I
‘ ‘ i =
o i e t 18
! I —
1 ‘J 5.5
B | =F
66+1 ‘ 100
136
152
4-M5x10
o 50 MEREEEIL
&~
f f 17 [ [ ]
o B T
B 1j i o
° o
i T 0
90 150 M*200 A 93.5
23 23 -+ 0
g8
Ead o4 oo fo 7
I: N-M8x12 N-29,
| 105 150 M200 A 785
ABITE 100 150 200 250 300 350 400 450 950 1000 1050 1100 1150 1200 1250
L 383.5| 433.5| 483.5| 533.5 | 583.5 | 633.5| 683.5| 733.5 | 783.5 | 833.5 | 883.5 | 933.5 | 983.5 | 1033.5|1083.5(1133.5(1183.5(1233.51283.5| 1333.5| 1383.5| 1433.5(1483.5(1533.5
A 50 100 150 | 200 50 100 150 | 200 50 100 150 200 50 100 150 | 200 50 100 150 200 50 100 | 150 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16
KG 118 | 126 | 134 | 142 | 149 | 157 | 165 | 17.3 18 18.8 | 196 | 204 | 21.1 | 21.9 | 227 | 235 | 242 25 258 | 26.6 | 27.4 | 28.2 29 29.8

uogonpay) Aueduiog

!

TRHE

Sz
Z S8

ig

Jolenioy 19g piEpUEIS

Jenioy 198 ook Uosio
g 3 SR R 6% S BiFRR T YL 163 & BTt EF T X%

dA 8doing Joienioy 119 PIEPUBIS

Joreny adk1 poyt

odAL yog s W
1632 TH(Z B

R/ EWNEE

‘adf | me10S 128 SXY BN

R/ EWNEE




ATH1 7 Series #24FIKX 3h Ball Screw Drive

q @:E&iﬂ?#ﬁ L

REEA 151 ARE 1325
AR 2-26x15 H7 A
661 B-MBX20 HRER
| 465+
i FW A1)
g -

-
.\T

169
4-M5x10
MEREEETL | 156 |
[ ! !
5 ;
. A
il 5T T
T T
@
3
° °
M200 A 93.5
| | o
o o o —
g8
had e —
N-29 ‘ N-M8x12
150 M*200 A 78.5

550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 383.5| 433.5 | 483.5 | 533.5| 583.5 | 633.5 | 683.5 | 733.5 | 783.5 | 833.5 | 883.5 | 933.5| 983.5

1250

1033.5(1083.5(1133.5(1183.5(1233.5|1283.5(1333.5(1383.5(1433.51483.5|1533.5
A 50 100 150 | 200 50 100 | 150 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200 50 100 | 150 | 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 | 16

KG 118 | 126 | 134 | 142 | 149 | 1567 | 165 | 17.3 18 18.8 | 19.6 | 204

211 | 219 | 227 | 235 | 242 | 25 258 | 26.6 | 27.4 | 28.2 29 29.8

070




REEN 3 AR RERHERE RS FLBARRE R FLEHAUBRARG BX MR 7 3 5 BN RS BT/ R BT /AR

Company Introduction ‘Standard Belt Actuator Clson Ball Screw Actuator Clson Room Belt Actuator ‘Standard Belt Actuator Europe Type, Rod Type Actuator Multi Axis Belt Type Multi Axis Ball Screw Type

071

)
Q
O
0p]
N~
I
T
<




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

